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6]NROHQLH�PD�QD�FHOX�X]XSHáQLHQLH�ZLHG]\�]�
]DNUHVX�VLHFL�(WKHUQHW,3�SRSU]H]�QDE\FLH�
XPLHMĊWQRĞFL�WDNLFK�MDN�

x QDGDZDQLH�DGUHVyZ�,3�XU]ąG]HQLRP�Z�
VLHFL�(WKHUQHW�,3

x PRQLWRURZDQLH�Z\GDMQRĞFL�L�VWDWXVyZ�
XU]ąG]HĔ�VLHFLRZ\FK��VZLWFK\�

x GLDJQR]RZDQLH�L�UR]ZLą]\ZDQLH�
SUREOHPyZ�]ZLą]DQ\FK�]H�VZLWFKDPL
Z�VLHFL

.XUVDQW�EĊG]LH�PLDá�UyZQLHĪ�RND]MĊ�
VNRQILJXURZDü�VZLWFK�]D�SRPRFą�
RSURJUDPRZDQLD�6WXGLR�����/RJL[�'HVLJQHU���
VNRQILJXURZDü�NRQZHUVMĊ�DGUHVyZ�,3��SURWRNyá�
1$7��RUD]�]DEH]SLHF]\ü�L�RJUDQLF]\ü�GRVWĊS�GR�
VLHFL�]D�SRPRFą�IXQNFML�ZEXGRZDQ\FK�VZLWFKD��

3R�VNRQILJXURZDQLX�VLHFL�(WKHUQHW�,3�VWXGHQW�
EĊG]LH�PLDá�PRĪOLZRĞü�]DSR]QDQLD�VLĊ�]�
IXQNFMRQDOQRĞFLą�PRQLWRURZDQLD�L�GLDJQR]RZDQLD�
VLHFL�(WKHUQHW,3�]�SR]LRPX�VZLFKD�]DU]ąG]DOQHJR�
6WUDWL[��

:�UDPDFK�V]NROHQLD�RPyZLRQH�]RVWDQą�
QDMF]ĊĞFLHM�Z\VWĊSXMąFH�SUREOHP\�]�NRPXQLNDFMą�
SRPLĊG]\�XU]ąG]HQLDPL�Z�VLHFL�(WKHUQHW,3��
3RUXV]RQH�]RVWDQą�WDNĪH�]DJDGQLHQLD�]ZLą]DQH�
]H�VSRVREDPL�GLDJQR]RZDQLD�L�XVXZDQLD�
SUREOHPyZ�VLHFLRZ\FK�
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x 'HILQLFMD�(WKHUQHW�,3
x 0RGHO�26,�,62
x 3URWRNRá\�&,3��6\QF�6DIHW\�0RWLRQ
x $UFKLWHNWXU\�VLHFLRZH�Z�V\VWHPDFK�VWHURZDQLD
x 3U]HJOąG�URG]LQ\�6WUDWL[
x .RQILJXUDFMD�56/LQ[
x 1DGDZDQLH�DGUHVyZ�,3��%2273��'+&3�
x 'RGDZDQLH�XU]ąG]HĔ�]GDOQ\FK�GR�3/&
x .RPXQLNDFMD�3URGXFHQW�± .RQVXPHQW�L�0HVVDJH
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x 6ZLWFKH�]DU]ąG]DQH�6WUDWL[
x 6]\END�NRQILJXUDFMD�± ([SUHVV�6HWXS
x 6PDUWSRUW\
x 9/$1
x 1$7
x 'LDJQRV\ND
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7HQ�NXUV�SU]H]QDF]RQ\�MHVW�GOD�WHFKQLNyZ�L�LQĪ\QLHUyZ��NWyU]\�PDMą�]D�]DGDQLH�ZGUDĪDQLH�L�XWU]\PDQLH�VLHFL�V\VWHPyZ�
DXWRPDW\NL�SU]HP\VáRZHM�
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6WXGHQFL�X]\VNDMą PRĪOLZRĞü�SUDNW\F]QHJR��ZDUV]WDWRZHJR�SU]HüZLF]HQLD�]GRE\W\FK�XPLHMĊWQRĞFL�Z�WUDNFLH�V]NROHQLD�
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